& 2

-

-
i e
TRy us

I

REVISIONS
REW., NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
04 - 08/ 2012 - - REVISED FOR TDi
CLOPAY MODEL <02 i
IDEAL MODEL C2AL UP TO 22'-2* WIDE X 18’-0° HIGH 05 - 06/2013 - — | REMOVED ACRYLIC GLAZING OPTION.
06 - 08/2016 - - REMOVED WIND SPEED TABLE.
D L R L I e B T e R DOOR 1S MADE TIOR 1 = 3" TALL x 20 GA. GALV. STEEL (MIN YIELD STRENGTH
WIND L EQUIREMENTS OF THE FL BUIL
T DOES MOT MEET THE OF S063-T5 ALUMINUM EXTRUSIONS. S0KSI) U-BAR, ONE AT THE TOP OF EACH SECTION EACH
T I — OR INTERNATIONAL BUILDING CODE BU HOT g Mol
ol INSTALLER {10 ST IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS ToE & BOTIOM. RAILS —— 075 O DAR AITACHED WM ] Lt R TR
REGIONS {REF. CHAPTER 16 FBC/IBC) INTER. TOP & BOTTOM RALS — 075 EWS PER STRE LOCATION.
TOP HAS .1 x 1.875" FIN
INTER. TOP RAIL CAP ————— 040 12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
3" GALV. TAPERED STEEL TRACK AND ANGLE, U-BAR SEE SECTION D D T s ATTACHED W/(4) §i14x5/8" SHEET METAL SCREWS.
i TRACK THICKNESS: 1017, ANGLE THICKNESS: 080 - ADJUSTABLE SLIDE ATTACHED TO TOP BRACKET WITH QTY
VERTICAL/HORIZONTAL TRACK. 147 MAXIMUM SPACING g—. (2) 1/4" % 1,/2" BOLTS & NUTS PER BRACKET. TWO
- JUNCTION, TWO 1,/4° BOLTS |—— FROM LAST MOUNTING T BRACKETS PER SIDE
P E i & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTEOM | 1 C_WHEETE-?EESSECTIUN
y N i 1-1 FOR DETAI
- ADOITIONAL MOUNTING SLOTS REQUIRED FOR DOORS RAPS - 3
2 OVER 70" HEGH SPACED AT 12° CEWIERS. ADJUSTABLE —— N ~ N \ \ ﬂppmcﬂgfeﬁsﬂ mnrg srgészwf?:r; ch;ons%.:s
> T} TRACK CONFIGURATION  T0P ROLLER X L el T S - '
' URATION BRACKETS = \ SCREW ng CECHMNELj. SEE REAR ELEVATION
FOR PLACEMENT.
S ONE K™ TRACK BOLT AND UT 5 = o 3, ] = > -
& 1T AT EACH MOUNT®NG SLOT =
T LOCATION. MOTE: DOUBLE [::rm;alkw L ~ ~ N o oy FULL=WISION SESIUMS 0 —
o HEADROOM, HI= K ‘ . ~ I
£ _Lr DOOR FOLLOW-THE—ROOF TRACK, 2 2 \‘ § ILEEL:J.-"?H ELA;L-:‘ST?_‘
g B HEIGHT | "L” JLGLE GBIV, 3 ThuH : SNAP-IN GLAZING BEAD
g AVALABLE OPTION = = o o - ‘ " . -
C &—0" | 8" ALSO ANAILABLE. MAK aljglcar = B'x2—1/4"x12 GA. GALV. STEEL PLATE.
T 0 w 1 b e
| 9'-Q" [100 THO POINT me Sl e S|l E ~ N \, SEE VIEW "E".
mnir 12" o —o 112" LOCKING — | :
12 —0°1136 REM - . DOUBLE END ROLLER J14¥5/87 SHEET WETAL
R NGRS OF 14, Gk N
| 15 -0 172" GALV STEEL, FASTEMED AS E
Tsip 60184 [ |Ca | | 9 _STRAPS PER SECTION SHEMHNS M0 4 a &
T T n ! SHOWN
17 —Q186 7 3" ROLLER CARRIER X hY T Pa
18 —01208 PART § 0120394, ..___| 22 TrpA—— f—u1q 'lll
MOUNT WITH QTY 3 222" MaX. DDOR WIDTH
oa. [NUMBER OF SELF- GRMLNG SEREWS £ noTE: 'IIL ONE 6" TALL, 16 GA. C—CHANNEL Fim
DOOR HEIGHT “A" |'crrrinng ASESHO : n PAMEL IN BOTTOM SECTION PER DOOR SECTION. (1) 1/ANESE" SELF TAPPING
: CENTER STILES ALWAYS 22 CAN BE 050" THICK SMOCTH 1/4"x3/4" SELF TAPPING SCREW SCREWS, Y. (2) ALONG
g 10 B 4 FROM CENTER TO CENTER. : PER END STILE AND BACKER CORNERS OF EACH HINGE
§-3" THRU 10°-0* 5 FOR ANY GIVEN DOCR AT THE CENTER OF EACH C—CHANNEL el PLATE LOCATION, (SEE WIEW "D7)
10°-3 THRU 12°-07 6 WIDTH, DIMENSION B’ THsS ATTACH THREE 6'x2-1,/4"x12 GA. STEEL :
Ef':g' }:% IZJ:I]-' 7 DIMENSION WILL NOT BE PLATE TO THE UMNDERSIDE _UF TI;EE THE Wl B
eiaraii o A GREATER THAN 23" OR C—CHANNEL WITH (8) 1/47%3/4" SELF
LESS THAM 18" TAPPING SCREWS, .
MAX. SECTION HEIGHT: 24™ viEw EC
B END STILES FASTENED TO &
CENTER STILES FASTENED 10 RALS R L
= WITH FULL LENGTH 5/16° STEEL FLANGE NUTS ) BOTTOM ROLLER BRACKET OF 12 GA. GALV. STEEL
3716 MIN, MAY BE BACK- = : .
Slee, e FILLED WITH RALS: ANp-ELANGE BT S OR-LOVLY CENTER HINGES DN 2-1/2 FASTENED WITH (#) §14 X 5/8" SHT MIL SCREWS
CONCRETE, BUT EVERY OTHER STILE STARTING = 58 (e
NOT REQUIRED. WITH CENTER OF DODR. VIEW ﬂ
- e 6" TALL C—-CHANNEL s
178" LONG COR-LOVLY CENTER HINGE OF 16 GA GALW. 16 GA. GALV. STEEL P
FILLET WELD [EBOXX STEEL, ATTACHED 7O INTER. BOTTOM RAIL MIN YELD STRENGTH S0KSI / by
ELECTRODE MIN.). WELD WITH €2 #14 x S/8* SHT MTL SCREWS AND 3* STEEL LONG PR Tt
5?4 iis t‘;“:ﬁfgfﬁ"m“ STEEL JAMBS ;I;-ét_l L%LEF::KLEPHEELENE[;ER{E%S]? = TESD * PUSH NUT STEM ROLLER BOTTOM SECTION sngmronccn \'«IE'H A TEMPERED S S f
% REINFORCING FIN ON INTER. TDP ALUMINUM EXTRUSION WITH INTEGRAL RETAINER FOR ] A
CENTER AND 174" TACK © 2 ONINUOUS ANGLE SECTION 2 = 2 RAILS ANGLE CUT AT END STILES FLEXIBLE VINYL ASTRAGAL =5
SAME SPACING. MOUMNT TRACK FASTENED s SECTION 4 - 4 o
DIRECTLY TO STEEL JAMB R
T PO P ]
w B ON 7€ | CONCRETE JAMBS = STEEL JAMBS e A - :
Dz.mn PSI Mt = : H i LA i
CONCAETE i 2000 E51 K ! 316" ML STEEL | SCREW. WASHER THE DESIGH: OF THE ~: X
. - i ' g ! REQD. 207 MAX. SUPPORTING STRUCTURAL DESIGN EMGINEER: MARK WESTERFIELD, P.E =
S s i E I 0. T0 SECuRE ELEWENTS 1S THE RESPONSIEILITY FLORDA PE. §48435, NC P.E §23832. TExAS P.E. §91513 HﬁNu‘EﬁCTURIhﬁ FRODUCT CODE . D |-
L L CEUC WHCHOR ) 11172 | NAY BE BACK-FILLED 14734 LG, 2x6 WOOD JAM3 OF THE BUILDING ENGWEER OR DESIGN LOADS: +30 & -30 P.5.F
HEL MCL D, : MIN. EMBED TAPCON | WITH CONCRETE. BUT SELF TAPPING | 10 Wooo ARCHITECT OF RECORD. TEST LOADS 45 & —45 P.SF. MPCs’ g 'ﬂ"L“'- 1!—'499
A 10 SECURE 36 sa8 : CONCAETE FASTENER. | NOT REGUIRED FOR SCREW. I STRUCTURE, ; : - e
T0 COMCRETE. ! 1% WASHER REQ'D. | SELF TAFPING SCREW. V6" MAX. 0.C. | 1-1/8" Dih. WASHER RECD. Unless Stoted Otherwise | [ 8585 Duke Boulevard CLOPAY WINDLBAE _R".a,T]Ng
S NEEBED i 9" MAX. 0.C. s T0 SECURE | EIMER S HEEDED: TOLERAMNCES u a Moson, OH 45040 USA
: ! T0 SECURE AMGLE i ;‘:&E .L'?“& ! ore | (R p y Tel. No. 513-770-4800 \f\j 5
/ i TO CONCRETE. i : Egﬁ'rr}'m%ué“mmz 0= +£.081 Buikding Producls Company Fox Mo, 513-770-4853
COMTIUOU ! S Vo 1
it ST i : | FASTENED TO 2¥6 §2 00 = 2015  [DESCRIPTION: M/N 902, C2AL, 22'2" WIDE DES. +30/-30 PSF
10 226 §2 OR BEFTER i ! : E,EEBE,.‘L.F? Bt CLOPAY CORP. 000 = +.005
I e e E e i S | SU—— $/16%1-5/F LG ALL RIGHTS RESERVED. 0000 = +.001 DRAWN BY: BFA DATE: 11/12/04{ SCALE: NONE DWG.
GLE MOUNT ! = K
e Lo, | FasTowD pRecTlY : FASTENED DRECTY . | JRACK CLP Thi Degrees = *1/2° [CHECKED BY: - DATE: — SHEET 1 OF 1 |SIZE
: ! 7D COMCRETE. : iy I LOCKTION hirg -angle Unless Stated Otherwise
! | : Projection DIMENSIONS ARE IN INCHES.|DWG. NO.. 103324 VER: DI



